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Part III — Vocational Subjects

SlgLitien Quindlrewiev - smHESlwev

BASIC MECHANICAL ENGINEERING - THEORY

(s wOHmID < midle euyl / Tamil & English Version )

&Ted jeme : 3.00 wewfl GBIy ] [ Qrgg wHuCueamser : 90
Time Allowed : 3.00 Hours ] [ Maximum Marks : 90
Sleyenraet : (1) Swasg laméserd sflwrg udourd o drarsr craLsemen FilLTTdgé

Instructions :
GOy = ()

(ii)
Note : (i)

QamaTeraybd. HFHILSLIGAL @GerpullpLilder enms searamenilliLimerflLb
o L amnquings Qgtlelssea .

!ga)Lb Sog  SmUY owbullamear WLLEHCL TWHSHGLW
913 &5CaTIE(HaugnGL Lwearl(F s Couam(Hb. LILBISGE alaFelsnd
Quendled LweT(h&SaLb.

Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

U@&S - 1/PART -1

SemenEg NlanTEsERsGD ellenwiefl&se,Lb. 15x1=15

QarTh&sUULL Bres@ wrHm edlamLseaild Wse b gLl alen el

CarbOshds GNULHLer ellenLulenaryd Carggl er(pseyLb.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives and write

the option code and the corresponding answer.
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1. Qaureflur srelufler 8&fHmeray

(<) 0.001 .8 (<) 0.01 .85 (@) 0.1 .15 (FF) 0.02 .5
The least count of the Vernier Caliper is :
(a) 0.001 mm (b) 0.01 mm (¢) 01 mm (d) 0.02 mm
2. M AerellH@D, QHEGD Aerellh@b 2 6rer eNSSwmsLDd eramiLi(hD.
(=) gostiLb ojerey GCeumuim( (=) SAFFULEF cTerena
(@) GOPHSULE eTaame (FF) wmmur@
The algebraic difference between the actual size and its corresponding basic size is called :
(a) Tolerance (b) Maximum limit
() Minimum limit (d) Deviation

3. W3 256 ererug)
(=) Aampnsreneuied adlugg hulLTeR Csrh&sUUBL o Larg fdFams wpeom
(<) Camphsreneuier 2 HuSSH CFwuujb wperm
(@) Qupdly urgisTiy
(FF) wemtlwmers LITGSTLIL] (PenD
First aid is :
(a) Immediate treatment given at the spot of accidents
(b) Manufacturing process
(c) Safety of machines
(d) Safety regarding operators

4. @ Qummefler BHer, Hs®, 2wy ereyser Qsfluywrmy 120° Carenr @enLCleuafudie
Qumrmetler wpps CamHmDd QFTWLTm eueFLD (penm @)euelrm erpssLiL(HEng.
(=) e Cament LGlrrClendgen (<) 2 15CasTdlrmas L6rmhasser
(@) epearmmd Caranr LGrrlesse () eGarClol Mg LQrThlgsser
The method of drawing length, breadth and height of an object on planes 120° apart is
known as :
(a)  First angle Projection (b)  Orthographic Projection

(c) Third angle Projection (d) Isometric Projection
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297 x 210 SjeTa|eTer auenFLILggmetlen Gl

(=1) A2 (<=1) AO (@) Al () Ad
Drawing sheets with dimensions of 297 X 210 is designated as :
(@) A2 (b) A0 (0 A1l (d) A4

2 BIG@EReLI euanTsale) senl_dlwrs Celwliul L dFweme $eiliiss YeTalmn 6THS

GnsGeu sreillFGarorernd LwerUhEmg ?

(=) Ctrl + G (<) Ctrl + Shift + V

(@) Cul+Z (FF) Ctrl+C

Which shortcut key combination can be used to undo the last action in your drawing ?
(@) Cul+G (b) Ctrl + Shift + V

() Cul+Z (d) Ctrl+C

30° Garenwr ojere] GareawrL Ldtefl @&gib swifuller Glw
(=) swmrpenar CQsrarr LeTatl @&ggib sl

(<=y,) ewwwitiyerefl GSgIb G

() iyl Gggib &bl

(FF) temey Latefl GSgID &b

Punch with an angle of 30° is known as :

(a) Pin Punch

(b) Centre Punch

(¢)  Prick Punch

(d) Dot Punch

ganevenlo Ml augalld Gelwl LwerL(Gmn Cummer :

(=) Qe (<},) FLD (@) dermevigs (rr) 2 Cersid
The material used for making master pattern is :
(a) Wax (b) Wood (c) Plastic (d) Metal

&FSSLOMET @(HLOLY6T Diaml 6TemT :

() 36 (=) 16 (§) 46 () 26
The atomic number of pure iron is :
(@) 36 (b) 16 (c) 46 (d) 26
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10.  L56T Fetenld GrErLIg)

(=1) Coudludlwied Lievre (<=1) @unilwied LiewTLy
(@) Qupdlreiuied Liewry] (/) Wereflwed Liery
Elastic property is :

(a) Chemical property (b) Physical property
(c)  Mechanical property (d) Electrical property

11. Qi fs weyuler Camewnrd :

(1) 60° (<) 55° (@) 30° () 47°
The angle of metric thread is :
(@) 60° (b) 55° (c) 30° (d) 47°

12. Gonhs Qe Gleuafl 2 6Ter &b F&dlan SLES LwaTL(HeUS) :

(=) Fmidledl (pevm (=) ulenL (e

(@) SHleriid wpevm (FF) weaelenemt (penm
is used to transmit rotary power in limited space.

(a) Chain drive (b)  Beltdrive

() Clutch drive (d) Gear drive

13. WersemLuder e :

(1) aurml wewfl (<) B (@) sagd (rF) &b
The unit of resistance is :
(a) Watt-hour (b) Meter (c) Coulomb (d) Ohm

14. 5 HP pse 15 HP cueny 2 émer WlenGom L mhé@EGL Lwemihib gHleusbs :
(=) YL CLIT 1qFTeTevLITTON Fleudsd
(=) oL GLeLT gleusd
(@) Sadlufim @ewrLsgem ComlLmm glouss
() D.O.L. glousdl
Starter used for motors of 5 HP to 15 HP is
(a) Autotransformer starter
(b) Star-delta starter
(c) Slip ring induction motor starter
(

d) Direct-on-line starter



15.

sH&TlE @enentlibdn@ erHSSHSST(H
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(1) FreoLifm @ enewTLiL (<=,) Gleudvigm @ enemrLiiL
(@) CGumrel_(hser (FF) @enLwimentl @ enemriiL
An example for temporary fastener is :

(a) Soldering joint (b) Welded joint

(c) Bolts (d) Riveted joint

u@&d - I/ PART - II

@[ﬂquz a@g)@Lb L& elenrs s @hs@ edlenl wiaflé s el

Note : Answer any ten questions. Question No. 28 is compulsory.

16.

17.

18.

19.

20.

SL_Lmuwns olen_weilss Couar(Hb.

@QuiBS L LemtwmenT eraTLeuT W ?

Who is machinist ?

cuenrUL Gdlem lere| dlFlsd erammred ereme ?

What is a scale of drawing ?

Yereu(meuameupenn LOHDH GOILIL cuenrs.
(=) aflwy, Sl (srer sgirbd)

(<) aflsT_(Hd L enL

Write a note on the following.

(a) View cube

(b) Navigation bar

BIS -1 Lemtl&er wreney ?

What are the functions of BIS ?

OIFF DTG UENSHET WTene ?

What are the types of moulding sand ?

. ellerm eremT 28 -M(&
10x3=30
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21.

22.

23.

24.

25.

26.

27.

28.

Wer GomlLmfléd GrrlLmi eTemmmed eTevesr ?

What is the rotor in electric motor ?

GLLu (Tap) eredTmTeL GT63ERT ?

What is a tap ?

eowsCrmblLflé @emplienp eremmmed eremer ?

What is negative error of micrometer ?

epFuilenl LD GTEmTed GTeoTeT ?

What is the pitch of the thread ?

gfleyl LEenemT 6TEImTE 6Temes ?

What is a bevel gear ?

WOleTGETTL_L_LD 6TETMTED 6TETEH ?

What is electric current ?

HITTLIGH 6To odhl 60T PG GUEHSEHSET WITEnE ?

What are the three types of carbon steel ?

9150 weTuller LW6TSET Wwrenel ?

What are the uses of acme thread ?
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L&) - 111/ PART - III

GO : gCaemib mbg cHamsseEnde wLHb elaiwealdseyb. elam erer 35 -M@&

Note :

29.

30.

31.

32.

33.

34.

35.

SLL_mu ellenLwiefl&gHe| . 5x5=25
Answer any five questions. Question No. 35 is compulsory.

lusgl THUBEUSDESTET (PSS STTETBISET WTenel ?

What are the main causes for accident ?

JHSILI(HD H6T6] T 6TEme ? feUunMlen eUanEHmeT 6leTd:Es.
What is the tolerance ? Explain its types.

9§58 smadlsamer cuflensliLi(hSgIs.

List out the moulding tools.

Ceul_(Hefl ero.dlenm cuanssamersd gaml allersE@s.
State and explain the different kinds of tool steel.

55T 9Cer(h 2 ML USNHETET STTETBRISEETILD CFHUIEISDSTET &ITIT 6T b &EnET LD
M.
State the reasons for the breakage and blunting of hacksawblade.

eraflu LebellenenT Qs TLIT LIL LD euanyhgl eNlemd@s.

Draw the simple gear train and explain.

Epssramid wenTuller LTshismer clerd@s.
(=) wenrudler <yLpd
(<)) &8 el L LD
(@) e

(FF) werrules o &8
(2) SiigliLeTeTid

Explain the following thread parts :

(@) Depth of Thread
(b) Major Diameter
(c) Lead
(
(

[oN

) Crest
e) Roots

[ HlmLiys / Turn over



7681 8

U@&3 - IV / PART - IV

@iy : alfleurer ellenweflGse,b. 2x10=20
Note : Answer the following questions in details.
36. (1) L CLrGaige LwetUhSSID PSS WLTEr S L amersameT 6Nl6rsEs.
36060 G
(<) Cari WenEHm LHMID LSS WeTsnm UL LD euanrbgl ellems@s.
(a) Explain the important Commands used in AutoCAD.
OR
(b) Explain the series circuit and parallel circuit with neat sketch.
37. (&) STEseaier euaEEmeT UL SHIL 6 6md:@s.

S|6V60F)
(=) () euaruLsHler nwerLBHSSLILIHL LoGaum CaThsEameT cuanThgl ieub e
LIWeTUT(N&HEmET 6T (LSS .
i) swWey Gy Wsmarsoengeflen GeueuGoum euamTamThiamars GNILULAL(H
Sigpen 2 LICWTESMNSS Fmmis.

(a) Explain the types of files with diagram.
OR
(b) (i) Draw the different types of lines and specify their applications.

(i) List the different coloured bins for collection of waste and their uses.
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